

Superstability of the p -radical sine functional equation

Gwang Hui Kim^{a,*}, M. Eshaghi Gordji^b

^aDepartment of Mathematics, Kangnam University, Giheung-gu, Yongin-si, Gyeonggi-do, 16979, Repub. of Korea

^bDepartment of Mathematics, Semnan University, P.O. Box 35195-363, Semnan, Iran

(Communicated by Mohammad Bagher Moghimi)

Abstract

In this paper, we investigate the transferred superstability of the p -radical functional equation

$$f\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - f\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 = f(x)f(y)$$

with respect to the sine functional equation from the Pexider type p -radical functional equation $f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) = \lambda \cdot h(x)k(y)$, where p is an odd positive integer and f is a complex valued function. Furthermore, the results are applied to the stability of the cosine type p -radical functional equations.

Keywords: superstability, p -radical equation, cosine functional equation, sine functional equation, Wilson equation, Kim equation.

2020 MSC: 39B82, 39B52

1 Introduction

In 1940, the stability problem of the functional equation was conjectured by Ulam [25]. Next year, this problem was affirmatively solved by Hyers [14], which is the case of additive mapping.

Thereafter, the stability of the functional equation was improved by Bourgin [9], Aoki [3], Th. M. Rassias [24], Găvruta [12], Badora [4] Badora and R. Ger [5], Baker [6]

In 1979, Baker, *et al.* [7] announced the *superstability* as the new concept as follows: If f satisfies $|f(x+y) - f(x)f(y)| \leq \epsilon$ for some fixed $\epsilon > 0$, then either f is bounded or f satisfies the exponential functional equation $f(x+y) = f(x)f(y)$.

D'Alembert [1] in 1769 (see Kannappen's book [15]) introduced the cosine functional equation

$$f(x+y) + f(x-y) = 2f(x)f(y), \tag{C}$$

and which superstability was proved by Baker [6] in 1980.

*Corresponding author

Email addresses: ghkim@kangnam.ac.kr (Gwang Hui Kim), madjid.eshaghi@gmail.com (M. Eshaghi Gordji)

The cosine (d’Alembert) functional equation (C) was generalized to the following:

$$f(x + y) + f(x - y) = 2f(x)g(y), \tag{W}$$

$$f(x + y) + f(x - y) = 2g(x)f(y), \tag{K}$$

in which (W) is called the Wilson equation, and (K) raised by Kim was appeared in Kannappan and Kim’s paper ([16]).

The superstability of the cosine (C), Wilson (W) and Kim (K) function equations were founded in Badora, Ger, Kannappan and Kim (see [8, 16, 21]).

In 2009, Eshaghi Gordji and Parviz [13] introduced the radical functional equation related to the quadratic functional equation

$$f(\sqrt{x^2 + y^2}) = f(x) + f(y). \tag{R}$$

Recently, Almahalebi *et al.*[2] and Kim[17] obtained the superstability bounded by constant and bounded by the function, respectively, for the p -radical functional equations related to Wilson and Kim equation as following:

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda f(x)f(y), \tag{C_r^\lambda}$$

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda f(x)g(y), \tag{W_r^\lambda}$$

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda g(x)f(y). \tag{K_r^\lambda}$$

In 1983, Cholewa [10] investigated the superstability of the sine functional equation

$$f(x)f(y) = f\left(\frac{x+y}{2}\right)^2 - f\left(\frac{x-y}{2}\right)^2, \tag{S}$$

under the condition bounded by constant.

The aim of this paper is to solve and investigate the transferred superstability of the p -radical functional equation

$$f\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - f\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 = f(x)f(y) \tag{S_r}$$

with respect to the sine functional equation from the Pexider type p -radical functional equation

$$f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) = \lambda h(x)k(y), \tag{P_r^\lambda}$$

Furthermore, the results are extended to Banach spaces.

In this paper, let \mathbb{R} be the field of real numbers, $\mathbb{R}_+ = [0, \infty)$ and \mathbb{C} be the field of complex numbers. We may assume that f is a complex valued function, ε is a nonnegative real number, $\varphi : \mathbb{R} \rightarrow \mathbb{R}_+$ is a given nonnegative function and p is an odd positive integer.

2 Superstability of the p -radical sine functional equation (S_r)

In this section, we will investigate the transferred superstability of the radical sine functional equation (S_r) with respect to the sine functional equation from the Pexider type p -radical functional equation (P_r^λ).

Theorem 2.1. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)| \leq \varphi(x) \quad \forall x, y \in \mathbb{R}. \tag{2.1}$$

Then, either k is bounded or h satisfies (S_r) under one of the cases $h(0) = 0$ or $f(-x) = -g(x)$,

Proof . Let k be unbounded solution of the inequality (2.1). Then, there exists a sequence $\{y_n\}$ in G such that $0 \neq |k(y_n)| \rightarrow \infty$ as $n \rightarrow \infty$.

Putting $y = y_n$ in (2.1) and dividing both sides by $\lambda f(y_n)$, we have

$$\left| \frac{f(\sqrt[p]{x^p + y_n^p}) + g(\sqrt[p]{x^p - y_n^p})}{\lambda k(y_n)} - h(x) \right| \leq \frac{\varphi(x)}{\lambda k(y_n)}. \tag{2.2}$$

As $n \rightarrow \infty$ in (2.2), we get

$$h(x) = \lim_{n \rightarrow \infty} \frac{f\left(\sqrt[p]{x^p + y_n^p}\right) + g\left(\sqrt[p]{x^p - y_n^p}\right)}{\lambda k(y_n)} \tag{2.3}$$

for all $x \in \mathbb{R}$.

Replacing y by $\sqrt[p]{y^p + y_n^p}$ and $\sqrt[p]{-y^p + y_n^p}$ in (2.1), we obtain

$$\begin{aligned} &|f\left(\sqrt[p]{x^p + (y^p + y_n^p)}\right) + g\left(\sqrt[p]{x^p - (y^p + y_n^p)}\right) - \lambda h(x)k\left(\sqrt[p]{y^p + y_n^p}\right)| \leq \varphi(x), \\ &|f\left(\sqrt[p]{x^p + (-y^p + y_n^p)}\right) + g\left(\sqrt[p]{x^p - (-y^p + y_n^p)}\right) - \lambda h(x)k\left(\sqrt[p]{-y^p + y_n^p}\right)| \leq \varphi(x). \end{aligned}$$

The above two inequalities summed and divided implies that

$$\begin{aligned} &\left| \frac{f\left(\sqrt[p]{(x^p + y^p) + y_n^p}\right) + g\left(\sqrt[p]{(x^p + y^p) - y_n^p}\right)}{\lambda k(y_n)} \right. \\ &+ \frac{f\left(\sqrt[p]{(x^p - y^p) + y_n^p}\right) + g\left(\sqrt[p]{(x^p - y^p) - y_n^p}\right)}{\lambda k(y_n)} \\ &\left. - \lambda h(x) \frac{k\left(\sqrt[p]{y^p + y_n^p}\right) + k\left(\sqrt[p]{-y^p + y_n^p}\right)}{\lambda k(y_n)} \right| \leq \frac{2\varphi(x)}{\lambda k(y_n)} \end{aligned} \tag{2.4}$$

for all $x, y, y_n \in \mathbb{R}$.

Letting $n \rightarrow \infty$ in (2.4), by applying (2.3), then, for every $y \in G$, there exists a limit function $L_k : \mathbb{R} \rightarrow \mathbb{C}$ such that

$$L_k(y) := \lim_{n \rightarrow \infty} \frac{k\left(\sqrt[p]{y^p + y_n^p}\right) + k\left(\sqrt[p]{-y^p + y_n^p}\right)}{\lambda \cdot k(y_n)}, \quad \forall y \in \mathbb{R}. \tag{2.5}$$

And also we conclude that the function h with L_k satisfies

$$h\left(\sqrt[p]{x^p + y^p}\right) + h\left(\sqrt[p]{x^p - y^p}\right) = \lambda h(x)L_k(y). \tag{2.6}$$

Applying the case $h(0) = 0$ in (2.6), it implies that h is odd.

Putting $y = x$ in (2.6), we get the equation

$$h\left(\sqrt[p]{2}x\right) = \lambda \cdot h(x)L_k(x), \quad x \in \mathbb{R}.$$

Keeping this in mind, by means of (2.6), we infer the equality

$$\begin{aligned} h\left(\sqrt[p]{x^p + y^p}\right)^2 - h\left(\sqrt[p]{x^p - y^p}\right)^2 &= \lambda h(x)L_k(y)[h\left(\sqrt[p]{x^p + y^p}\right) - h\left(\sqrt[p]{x^p - y^p}\right)] \\ &= \lambda h(x)L_k(y)h\left(\sqrt[p]{y^p + x^p}\right) + h\left(\sqrt[p]{y^p - x^p}\right) \\ &= \lambda h(x)L_k(y)\lambda h(y)L_k(x) \\ &= h\left(\sqrt[p]{2}x\right)h\left(\sqrt[p]{2}y\right). \end{aligned} \tag{2.7}$$

Replacing x to $\frac{x}{\sqrt[p]{2}}$ and y to $\frac{y}{\sqrt[p]{2}}$ in (2.7), this, in return, leads to the equation

$$h\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - h\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 = h(x)h(y)$$

valid for all $x, y \in \mathbb{R}$, which states nothing else but (S_r) .

For the other case $f(-x) = -g(x)$, it is enough to show that $h(0) = 0$. Suppose that this is not the case.

Putting $x = 0$ in (2.1), due to $h(0) \neq 0$ and $f(-x) = -g(x)$, we obtain the inequality

$$|k(y)| \leq \frac{\varphi(0)}{\lambda \cdot |h(0)|}, \quad y \in \mathbb{R}. \tag{2.8}$$

This inequality means that k is globally bounded, which is a contradiction. Thus, since the claimed $h(0) = 0$ holds, we know that h satisfies (S_r) . \square

Theorem 2.2. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)| \leq \varphi(y) \quad \forall x, y \in \mathbb{R}. \tag{2.9}$$

Then, either h is bounded or k satisfies (S_r) under one of the cases $k(0) = 0$ or $g(x) = -f(x)$.

Proof . (i) Taking $x = x_n$ in the inequality (2.9), dividing both sides by $|\lambda \cdot h(x_n)|$, and passing to the limit as $n \rightarrow \infty$, we obtain that

$$k(y) = \lim_{n \rightarrow \infty} \frac{f(\sqrt[p]{x_n^p + y^p}) + g(\sqrt[p]{x_n^p - y^p})}{\lambda h(x_n)} \tag{2.10}$$

for all $y \in \mathbb{R}$.

Replace x by $\sqrt[p]{x_n^p + x^p}$ and $\sqrt[p]{x_n^p - x^p}$ in (2.9), dividing by $\lambda \cdot h(x_n)$, then it gives us the existence of a limit function

$$l_h(x) := \lim_{n \rightarrow \infty} \frac{h(\sqrt[p]{x_n^p + x^p}) + h(\sqrt[p]{x_n^p - x^p})}{\lambda \cdot h(x_n)}, \tag{2.11}$$

where the function $l_h : \mathbb{R} \rightarrow \mathbb{C}$ satisfies the equation

$$k(\sqrt[p]{x^p + y^p}) + k(\sqrt[p]{-x^p + y^p}) = \lambda \cdot l_h(x)k(y) \quad \forall x, y \in \mathbb{R}. \tag{2.12}$$

Applying the case $k(0) = 0$ in (2.12), it implies that k is odd.

A similar procedure to that applied after (2.6) of Theorem 2.1 in equation (2.12) allows us to show that k satisfies (S_r) .

The case $g(x) = -f(x)$ is also the same reason as Theorem 2.1. \square

Corollary 2.3. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)| \leq \begin{cases} \min\{\varphi(x), \varphi(y)\} \\ \varepsilon \end{cases} \quad \forall x, y \in \mathbb{R}.$$

(a) Then, either k is bounded or h satisfies (S_r) under one of the cases $h(0) = 0$ or $f(-x) = -g(x)$.

(b) Then, either h is bounded or k satisfies (S_r) under one of the cases $k(0) = 0$ or $g(x) = -f(x)$.

Replacing and reducing for the functions f, g, h, k in (P_r^λ) arrives the functional equations $(fgfk, fghf, fghh, ffhk, fffg, ffgf, ffgg, ffff)$. Hence, as corollaries, the stabilities of these equations follow smoothly. We will illustrate some results.

Corollary 2.4. Suppose that $f, g, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot f(x)k(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

(i) Then, either k is bounded or f satisfies (S_r) under one of the cases $f(0) = 0$ or $f(-x) = -g(x)$.

(ii) Then, either f is bounded or k satisfies (S_r) under one of the cases $k(0) = 0$ or $g(x) = -f(x)$.

Corollary 2.5. Suppose that $f, g, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)f(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (i) Then, either f is bounded or h satisfies (S_r) under one of the cases $h(0) = 0$ or $f(-x) = -g(x)$.
- (ii) Then, either h is bounded or f satisfies (S_r) under one of the cases $f(0) = 0$ or $g(x) = -f(x)$.

Corollary 2.6. Suppose that $f, g, h : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)h(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

If h fails to be bounded, then, under one of the cases $h(0) = 0$ or $f(-x) = -g(x)$, h satisfies (S_r) .

Corollary 2.7. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (i) Then, either k is bounded or h satisfies (S_r) under one of the cases $h(0) = 0$ or f is odd.
- (ii) Then, either h is bounded or k satisfies (S_r) under the case $k(0) = 0$.

Corollary 2.8. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot f(x)g(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (a) Then, either g is bounded or f satisfies (S_r) under one of the cases $f(0) = 0$ or $f(-x) = -g(x)$.
- (b) Then, either f is bounded or g satisfies (S_r) under one of the cases $g(0) = 0$ or $g(x) = -f(x)$.

Corollary 2.9. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot g(x)f(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (a) Then, either f is bounded or g satisfies (S_r) under one of the cases $g(0) = 0$ or $f(-x) = -g(x)$.
- (b) Then, either g is bounded or f satisfies (S_r) under one of the cases $f(0) = 0$ or $g(x) = -f(x)$.

Corollary 2.10. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) - \lambda \cdot g(x)g(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (a) Then, either g is bounded or g satisfies (S_r) under one of the cases $g(0) = 0$ or f is odd.
- (b) Then, either g is bounded or g satisfies (S_r) under the case $g(0) = 0$.

2.1 Stability of (C_r^λ)

In this subsection, let us study the stability of the cosine type p -radical functional equation

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda f(x)f(y). \tag{C_r^\lambda}$$

Note that $\tilde{f}(x) := f(x)f(0)^{-1}$. The following lemma which is easy to verify shows that the similar argument holds without assuming the continuity. To make it easy to write, we continue using this notation \tilde{f} and note that it is legel only when $f(0) \neq 0$.

Lemma 2.11. Let $f, g : \mathbb{R} \rightarrow \mathbb{C}$ be functions satisfying

$$f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) = \lambda f(x)g(y) \quad \forall x, y \in \mathbb{R}.$$

If f is an even function, then either $f \neq 0$ or \tilde{f} satisfies (C_r^λ) .

We now apply the proceeding lemma to obtain the following theorem.

Theorem 2.12. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (i) If k is unbounded, and $h \neq 0$ is an even function, then \tilde{h} satisfies (C_r^λ) .
- (ii) If h is unbounded, and $k \neq 0$ is an even function, then \tilde{k} satisfies (C_r^λ) .

Proof . (i) Since k is unbounded, there exists a sequence $\{y_n\}$ in \mathbb{R} such that $\lim_{n \rightarrow \infty} |k(y_n)^{-1}| = 0$. Then, by the Theorem 2.1, there exists an limit function (2.5): L_k with $L_k(0) = 2\lambda^{-1}$ and

$$h(\sqrt[p]{x^p + y^p}) + h(\sqrt[p]{x^p - y^p}) = \lambda \cdot h(x)L_k(y)$$

for all $x, y \in \mathbb{R}$.

Then, by the Lemma 2.11, we deduce that \tilde{h} satisfies (C_r^λ) .

(ii) Similarly to (i), by the Lemma 2.11 and Theorem 2.2, we deduce that \tilde{k} satisfies (C_r^λ) . \square

Corollary 2.13. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot f(x)g(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (i) If g is unbounded, and $f \neq 0$ is even, then \tilde{f} satisfies (C_r^λ) .
- (ii) If f is unbounded, and $g \neq 0$ is even, then \tilde{g} satisfies (C_r^λ) .

Corollary 2.14. Suppose that $f, g, h, k : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (i) If k is unbounded, and $h \neq 0$ and $f(orh)$ is even, then \tilde{h} satisfies (C_r^λ) .
- (ii) If h is unbounded, and $k \neq 0$, then \tilde{k} satisfies (C_r^λ) .

Proof . (i) Take $g = f$ in Theorem 2.12. The evenness of f and the definition of h in (2.3) lead to the evenness of h .

(ii) Taking $g = f$ in Theorem 2.12, we infer the evenness of k from its definition in (2.10). \square

Corollary 2.15. Suppose that $f, g : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) - \lambda \cdot g(x)f(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (i) If f is unbounded, and $g \neq 0$ and f is even, then $\tilde{g} = (\lambda/2) \cdot g$ satisfies (C_r^λ) .
- (ii) If g is unbounded, and $f \neq 0$, then \tilde{f} satisfies (C_r^λ) .

Corollary 2.16. Suppose that $f, g : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) - \lambda \cdot f(x)g(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

- (i) If g is unbounded, and $f \neq 0$ is even, then \tilde{f} satisfies (C_r^λ) .
- (ii) If f is unbounded, and $g \neq 0$, then $\tilde{g} = (\lambda/2) \cdot g$ satisfies (C_r^λ) .

Corollary 2.17. Suppose that $f : \mathbb{R} \rightarrow \mathbb{C}$ satisfy the inequality

$$|f(\sqrt[p]{x^p + y^p}) + f(\sqrt[p]{x^p - y^p}) - \lambda \cdot f(x)f(y)| \leq \begin{cases} (i) \varphi(x) \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}.$$

Then either f is bounded or $\tilde{f} = (\lambda/2) \cdot f$ satisfies (C_r^λ) .

Remark 2.18. (i) As like Corollary 2.3, we can apply an stability inequalities to two cases $(\min\{\varphi(x), \varphi(y)\} \text{ or } \varepsilon)$ in all results of the Section 2.

(ii) As Corollaries, the stability of the p -radical functional equations $(fgfk, fghf, fghh, ffhk, fffg, ffgf, ffgg, ffff)$ are obtained.

(iv) Setting with $p = 1$ in all results contained the above (i) and (ii), then the obtained stability for the p -radical equations arrive to the stability results of the same type's trigonometric functional equations (cosine, sine, Wilson, Kim), which is founded in papers ([5], [11], [12], [18], [16], [19], [23]).

3 Extension to the Banach space

In all results presented in Section 2, the range of functions can be extended to the semisimple commutative Banach space. We will represent just for the main equation (P_r^λ) .

Theorem 3.1. Let $(E, \|\cdot\|)$ be a semisimple commutative Banach space. Assume that $f, g, h, k : \mathbb{R} \rightarrow E$ satisfy the inequalities

$$\|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)\| \leq \begin{cases} (i) \varphi(x), \\ (ii) \varphi(y) \end{cases} \quad \forall x, y \in \mathbb{R}. \tag{3.1}$$

Then, for an arbitrary linear multiplicative functional $x^* \in E^*$,

- (i) either k is bounded or h satisfies (S_r) under one of the cases $h(0) = 0$ or $f(-x) = -g(x)$.
- (ii) Then, either h is bounded or k satisfies (S_r) under one of the cases $k(0) = 0$ or $g(x) = -f(x)$.

Proof . Case (i), assume that (3.1) holds and arbitrarily fixes a linear multiplicative functional $x^* \in E^*$. As is well known, we have $\|x^*\| = 1$, hence, for every $x, y \in \mathbb{R}$, we have

$$\begin{aligned} \varphi(x) &\geq \|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)\| \\ &= \sup_{\|y^*\|=1} |y^*(f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y))| \\ &\geq |x^*(f(\sqrt[p]{x^p + y^p})) + x^*(g(\sqrt[p]{x^p - y^p})) - \lambda \cdot x^*(h(x))x^*(k(y))|, \end{aligned}$$

which states that the superpositions $x^* \circ f$, $x^* \circ g$, $x^* \circ h$ and $x^* \circ k$ yield a solution of inequality (2.1) in Theorem 2.1. Since, by assumption, the superposition $x^* \circ k$ with $(x^* \circ h)(0) = 0$ is unbounded, an appeal to Theorem 2.1 shows that the result holds.

The superposition $x^* \circ h$ solves (S_r) , that is

$$(x^* \circ h)\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - (x^* \circ h)\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 = (x^* \circ h)(x)(x^* \circ h)(y).$$

Since x^* is a linear multiplicative functional, we get

$$x^* \left(h\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - h\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 - h(x)h(y) \right) = 0.$$

Hence a unrestricted choice of x^* implies that

$$h\left(\sqrt[p]{\frac{x^p + y^p}{2}}\right)^2 - h\left(\sqrt[p]{\frac{x^p - y^p}{2}}\right)^2 - h(x)h(y) \in \bigcap \{\ker x^* : x^* \in E^*\}$$

Since the space E is semisimple, $\bigcap \{\ker x^* : x^* \in E^*\} = 0$, which means that h satisfies the claimed equation (S_r) .

For second case $(x^* \circ f)(-x) = -(x^* \circ g)(x)$, it is enough to show that $(x^* \circ h)(0) = 0$, which can be easily check as Theorem 2.1. Hence, the proof (i) of (a) is completed.

For (ii), by appeal to Theorem 2.2, this also runs along the proof of case (i). An appeal to Theorem 2.2 shows that if $x^* \circ k$ satisfies (??), then $x^* \circ h$ and $x^* \circ k$ satisfies the equation

$$(x^* \circ h) (\sqrt[p]{x^p + y^p}) + (x^* \circ h) (\sqrt[p]{x^p - y^p}) = \lambda(x^* \circ h)(x)(x^* \circ k)(y).$$

This means by a linear multiplicativity of x^* that

$$DC_{hk}^\lambda(x, y) := h(\sqrt[p]{x^p + y^p}) + h(\sqrt[p]{x^p - y^p}) - \lambda h(x)k(y),$$

falls into the kernel of x^* . As the above process, since x^* is a linear multiplicative, we obtain

$$DC_{hk}^\lambda(x, y) = 0 \quad \text{for all } x, y \in \mathbb{R}$$

as claimed. \square

Theorem 3.2. Let $(E, \|\cdot\|)$ be a semisimple commutative Banach space. Assume that $f, g, h, k : \mathbb{R} \rightarrow E$ satisfy one of each inequalities

$$\|f(\sqrt[p]{x^p + y^p}) + g(\sqrt[p]{x^p - y^p}) - \lambda \cdot h(x)k(y)\| \leq \begin{cases} \min\{\varphi(x), \varphi(y)\} & \text{or} \\ \varepsilon \end{cases}$$

for all $x, y \in \mathbb{R}$. For an arbitrary linear multiplicative functional $x^* \in E^*$,

- (a) Suppose that $x^* \circ k$ fails to be bounded, then h satisfies (S_r) under one of the cases $x^* \circ h(0) = 0$ or $x^* \circ f(-x) = -x^* \circ g(x)$,
- (b) Suppose that $x^* \circ h$ fails to be bounded, then k satisfies (S_r) under one of the cases $x^* \circ k(0) = 0$ or $x^* \circ f(-x) = -x^* \circ g(x)$,

Remark 3.3. As Remarks 2.18, we can be applied all results of the Section 2 to the Banach space.

Namely, we obtain the stability results of $14 \times 4(\varphi(x), \varphi(y), \min\{\varphi(x), \varphi(y)\}, \varepsilon)$ numbers for the other 14 equations except for Eq. (P_r^λ) . Some of them are found in papers ([5], [11], [12], [16], [19]).

Acknowledgement

This work was supported by Kangnam University Research Grant in 2020.

References

- [1] J. d'Alembert, *Memoire sur les principes de mecanique*, Hist. Acad. Sci. Paris (1769), 278–286
- [2] M. Almahalebi, R. El Ghali, S. Kabbaj and C. Park, *Superstability of p -radical functional equations related to Wilson–Kannappan–Kim functional equations*, Results Math. **76** (2021), Paper No. 97.
- [3] T. Aoki, *On the stability of the linear transformation in Banach spaces*, J. Math. Soc. Japan **2** (1950), 64–66.
- [4] R. Badora, *On the stability of cosine functional equation*, Rocznik Naukowo-Dydak., Prace Mat. **15** (1998), 1–14.
- [5] R. Badora and R. Ger, *On some trigonometric functional inequalities*, Functional Equations- Results and Advances, (2002), 3–15.
- [6] J.A. Baker, *The stability of the cosine equation*, Proc. Amer. Math. Soc. **80** (1980), 411–416.
- [7] J.A. Baker, J. Lawrence and F. Zorzitto, *The stability of the equation $f(x + y) = f(x)f(y)$* , Proc. Amer. Math. Soc. **74** (1979), 242–246.
- [8] B. Bouikhalene, E. Elquorachi and J. M. Rassias, *The superstability of d'Alembert's functional equation on the Heisenberg group*, Appl. Math. Lett. **23** (2010), 105–109.
- [9] D.G. Bourgin, *Approximately isometric and multiplicative transformations on continuous function rings*, Duke Math. J. **16** (1949), 385–397.
- [10] P.W. Cholewa, *The stability of the sine equation*, Proc. Amer. Math. Soc. **88** (1983), 631–634.
- [11] Iz. EL-Fassi, S. Kabbaj and G.H. Kim, *Superstability of a Pexider-type trigonometric functional equation in normed algebras*, Int. J. Math. Anal. **9** (2015), no. 58, 2839–2848.
- [12] P. Găvruta, *On the stability of some functional equations*, Th. M. Rassias and J. Tabor, Stability of mappings of Hyers-Ulam type, Hadronic Press, 1994, pp. 93–98.
- [13] M. Eshaghi Gordji and M. Parviz, *On the Hyers-Ulam-Rassias stability of the functional equation $f(\sqrt{x^2 + y^2}) = f(x) + f(y)$* , Nonlinear Funct. Anal. Appl. **14** (2009), 413–420.
- [14] D.H. Hyers, *On the stability of the linear functional equation*, Proc. Natl. Acad. Sci. **27** (1941), 222–224.
- [15] Pl. Kannappan, Functional equations and inequailitis with applications, Springer, 2009.
- [16] Pl. Kannappan and G.H. Kim, *On the stability of the generalized cosine functional equations*, Ann. Acad. Pedagog. Crac. Stud. Math. **1** (2001), 49–58.
- [17] G.H. Kim, *Superstability of the p -radical functional equations related to Wilson and Kim's equation*, Int. J. Nonlinear Anal. Appl. **12** (2021), 571–582.
- [18] G.H. Kim, *Superstability and solution of the pexiderized trigonometric functional equation*, Math. Statist. **8** (2020), 363–371.
- [19] G.H. Kim, *On the superstability of the pexider type trigonometric functional equation*, J. Inequal. Appl. **2010** (2010), Doi:10.1155/2010/897123.
- [20] G.H. Kim, *On the Stability of the generalized sine functional equations*, Acta Math. Sin., Engl. Ser. **25** (2009), 965–972
- [21] G.H. Kim, *The Stability of the d'Alembert and Jensen type functional equations*, J. Math. Anal Appl. **325** (2007), 237–248.
- [22] G.H. Kim, *A Stability of the generalized sine functional equations*, J. Math. Anal. Appl. **331** (2007), 886–894.
- [23] G.H. Kim and Y.H. Lee, *boundedness of approximate trigonometric functional equations*, Appl. Math. Lett. **331** (2009), 439–443.

- [24] Th.M. Rassias, *On the stability of the linear mapping in Banach spaces*, Proc. Amer. Math. Soc. **72** (1978), 297–300.
- [25] S. M. Ulam, “Problems in Modern Mathematics” Chap. VI, Science editions, Wiley, New York, 1964